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Time: 10 Minutes | Paper Math 8 (T-1) Total Marks: 10
| 1st Month, 3rd Week, 4th Day | Sub-domain II1. Exercise 1.7 Q#1,2

Q.1. Choose the correct options. (0.5x 6=3) -J /.,«@'llf.,«lﬁc—»w

(i) Square root of 0.64 is: :‘L/Jg( 0.64
(a) 0.8 (b) 8 (c) 0.08 (d) 0.008
(ii) What is the square root of 1866.24? ?Ll;mg(1866.24

¢

@| 426 (o 432 |@©] 415 |@| 408

(iii) The square root of 1.21 is: :‘gjigK 1.21
(a) 0.011 (b) 1.01 (¢ 1.2 (d) 1.1
(iv) What is the square root of 0.3249? ?‘L l;Cy( 0.3249
(a) 0.55 (b) 0.56 (o) 0.57 (d) 0.58
(v) The square root of 10.24 is: Z+/JgK10.24
(a) 3.4 (b) 33 (o) 3.1 (d) 3.2

(vi) Which of the following is radical sign?
?‘guﬂidjigu'cjfc_uﬁi 3 TOM)
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(iii) The square root of 1.21 is: :9;&(1.21

@| 0011 |m| 101 |@© 12 |@ 1.1

(iv) What is the square root of 0.3249? ?‘gkCJgK0.3249

@| 055 |m| 056 |@©| 057 |@| 058

(v) The square root of 10.24 is: :+/JgK10.24

@| 34 |m| 33 ©| 3.1 @@ 32

(vi) Which of the following is radical sign?
?‘Luwdjlgdc)/a ufuf 3O

(a) J b 3 © « (@ Anpi

() A (b) W (© a | Al

Q.2.Find the square root of 12.25 by prime factorization.
(1x2=2) gk 1225 S 5>
Q.3.Find the square root of 1281.64 by division method.
G 1281.64
Q.4.Find the square root of the following decimals by division
method. - /'/r}” (Z} ;J/Jg/,lg{:/l‘«"’b/uf $1OW)
(i) 20.5209 (i) 0.680625
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